




Real Champs-



A family consumes 25kg rice and 9kg wheat per month spends 350rs. The price of 

rice is 20% of the price of wheat. If the price of wheat is increased by 20% then find 

the percentage reduction in consumption of rice, if it has the same amount to spent. 

The price of rice is constant ?

1.26
2.36
3.35
4.45
5.NOT

एक परिवाि प्रति माह 25 ककलो चावल औि 9 ककलो गेह ूं का उपभोग कििा है औि 350 रुपये खचच 
कििा है। चावल की कीमि गेह ूं की कीमि का 20% है। यकि गेह ूं के म ल्य में 20% की वदृ्धि होिी है, िो 
चावल की खपि में प्रतिशि कमी ज्ञाि कीजिये, यकि इसमें खचच किने के तलए समान िातश है। चावल का 
म ल्य जथिि है?



In an election between two candidates 10% people did not cast their votes and 10% 

votes were declared invalid. The winner got 70% of valid votes and won by 2430 

votes. Find the total number of votes ?

1.10500
2.7500
3.22500
4.8250
5.NOT

िो उम्मीिवािों के बीच एक चुनाव में 10% लोगों ने अपना वोट नह ूं डाला औि 10% वोट अवैध घोद्धिि 
कि किए गए। द्धविेिा को 70% वैध वोट तमले औि वह 2430 वोटों से िीिा। मिों की कुल सूंख्या ज्ञाि 
कीजिए?



In an election two candidates, 75% voters cast their votes out of which 2% are 

declared invalid. A candidate gets 14700 votes which is 80% of the valid votes. Find 

the total number of votes ?

1.25000
2.20000
3.21000
4.24000
5.NOT

एक चुनाव में िो उम्मीिवािों, 75% मििािाओूं ने अपना वोट डाला, जिनमें से 2% को अवैध घोद्धिि कि 
किया गया। एक उम्मीिवाि को 14700 वोट तमलिे हैं िो वैध वोटों का 80% है। मिों की कुल सूंख्या 
ज्ञाि कीजिये?



In an election there were only two candidates A and B. 20% of voters did not cast 

their votes. A got 40% of the total votes. B got 60% votes of the valid votes and won 

the election by 1600 votes. How many votes B get ?

1.9600
2.8400
3.20000
4.11000
5.NOT

एक चुनाव में केवल िो उम्मीिवाि A औि B िे। 20% मििािाओूं ने अपना वोट नह ूं डाला। A को कुल 
मिों का 40% तमला। B को वैध मिों के 60% वोट तमले औि उसने 1600 मिों से चुनाव िीिा। B को 
ककिने वोट तमलिे हैं?



Two candidates participated in an election. 10% voter did not cast their votes and 

10% votes were declared invalid. A candidate got 60% of the total votes and won 

the election by 3900 votes. Find the number of voter in voting list ?

1.8100
2.10000
3.9500
4.9000
5.NOT

एक चुनाव में िो उम्मीिवािों ने भाग तलया। 10% मििािाओूं ने अपना वोट नह ूं डाला औि 10% वोट 
अवैध घोद्धिि ककए गए। एक उम्मीिवाि को कुल मिों का 60% प्राप्त हुआ औि उसने 3900 मिों से 
चुनाव िीिा. मििान स ची में मििािाओूं की सूंख्या ज्ञाि कीजिये?



Elections were held in a society to elect a chairman. There were only two candidates 

A and B. Candidate B got 25% less votes than candidate A. The number of members 

who did not cast the vote was same as the number of votes that candidate B got. By 

how many votes did A win if the society had 20,000 members ?

1.1000
2.2000
3.3000
4.4000
5.NOT

अध्यक्ष का चुनाव किने के तलए एक सोसायट  में चुनाव आयोजिि ककए गए िे। केवल िो उम्मीिवाि A 
औि B िे। उम्मीिवाि B को उम्मीिवाि A की िुलना में 25% कम वोट तमले। वोट नह ूं डालने वाले सिथयों 
की सूंख्या उम्मीिवाि B को तमले वोटों की सूंख्या के बिाबि िी। यकि सोसाइट  में 20,000 सिथय िे, िो 
A ककिने वोटों से िीिा?



In an election survey, 30% people promised to vote candidate A and remaining 

promised to vote for candidate B. if on the day of election x% of people who promised 

to vote for A, voted for B and 40% of people who promised to vote for B voted against 

him and in the end B lost by 10 votes. What is the value of x, if total 250 votes were ?

1.20
2.30
3.50
4.70
5.NOT

एक चुनाव सवेक्षण में, 30% लोगों ने उम्मीिवाि A को वोट िेने का वािा ककया औि शेि ने उम्मीिवाि B 
को वोट िेने का वािा ककया। यकि चुनाव के किन A को वोट िेने का वािा किने वाले x% लोगों ने B को 
वोट किया औि B को वोट िेने का वािा किने वाले 40% लोगों ने उसके जखलाफ मििान ककया औि अूंि 
में B 10 वोटों से हाि गया। यकि कुल 250 मि िे, िो x का मान क्या है?



In an election two candidates participated. 20% voters did not cast their votes, out 

of which 600 votes declared invalid and winner get 75% of valid votes and wins by 

1500 votes. Find the number of votes in voter list ?

1.5000
2.4500
3.4200
4.3400
5.NOT

एक चुनाव में िो उम्मीिवािों ने भाग तलया। 20% मििािाओूं ने अपना वोट नह ूं डाला, जिनमें से 600 
वोट अवैध घोद्धिि ककए गए औि द्धविेिा को 75% वैध वोट तमले औि 1500 वोटों से िीि हातसल की। 
मििािा स ची में मिों की सूंख्या ज्ञाि कीजिये?



In the previous government, party Q was in the opposition. Now increasing the seats 

by 33.33% Q is the ruling party and thus party enjoys twice the majority than that 

of party P in the previous government. If there were only two parties P and Q and 

the fix number of seats be 500 in the parliament. Then the number of seats of the Q 

in the new government is ?

1.225
2.200
3.275
4.300
5.325

द्धपछली सिकाि में पाटी क्य  द्धवपक्ष में िी। अब सीटों में 33.33% की वदृ्धि सत्तारूढ़ पाटी है औि इस 
प्रकाि पाटी को द्धपछली सिकाि में पाटी P की िुलना में िोगुना बहुमि प्राप्त है। यकि केवल िो पाकटचयाूं P 
औि Q होिी औि सूंसि में सीटों की तनजिि सूंख्या 500 होिी। िो नई सिकाि में Q की सीटों की सूंख्या 
क्या है?


